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1
X1 X2 X3 Y2 V3 V4
1 1.7 0.5 0.7 —19.42 —39.81 —26.56 5. %4
2 0.5 1.0 1.2 —20.82 —42.08 —25.64 4.770
3 1.2 0.5 0.7 —22.78 - —37.50 4. 96
4 1.0 0.5 1.0 —22.34 —55.65 —36.25 6.351 0
5 0.5 1.2 0.5 —15.69 —46. 05 —25.71 1.516 5
6 1.0 1.0 1.0 —20.17 —41.45 —31.62 4.570 5
7 0.7 0.7 1.7 —19.76 —55.4 —31.67 2.2775
8 1.2 1.2 0.5 —16.15 —40.9 —29.30 4.390 5
9 0.7 0.7 1.2 —21.93 —39.38 —31.10 4.843 5
10 0.5 1.7 0.5 —15.39 —54.93 —32.24 3.5235
11 0.5 0.5 0.5 —26.88 - —32.13 2.929 5
12 1.0 1.0 1.0 —21.39 —43.89 —32.94 4.905 0
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0.323 652 x7—5.653 61 x3
z3=—1.853 17—4.067 88 x,-+
17.911 6 x3—2.203 8 xax3+
2.478 474 x5—7.535 63 x3

( 2) ,

f(x)= max (y4)
3
0.5<<x;i<1.7, i= 123
y1="19.0



358

1999

2
Y1 Va2 V3 Yy
1 —19.283 3 —39.373 02 —26.1559 5.932 995
2 —20.1752 —41.669 81 —25.7883 4.279 797
3 —23.213 8 — —36.8194 4.488 667
4 —21.820 1 —53.264 78 —36.7658 6.082 753
5 —16.251 7 —47.36729 —25.8282 1.730 13
6 —20.443 8 —41.3023 —32.2483 4.649 498
7 —20.863 3 —54.643 43 —31.2711 1.910 107
8 —15.836 7 —39.759 52 —29.7274 4.521 42
9 —21.0055 —41.197 55 —31.6905 5.025 268
10 —14.991 6 —56.467 74 —32.5068 3.532 736
11 —26.491 — —31.2102 2.714 631
12 —20.4438 —41.3203 —32.2483 4.649 498
y2 /: 45- 0
y3="21
3
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